ERSAROREERT —I X—RIBIST—F

2021£108178 (H) 4EIRR4H

Ed== Y+ 7 1G2 YS5%E

=3mL CBS

) BlIE

‘ [Xf&] 2

‘[%EH?’JE] - | B 3110m fHE

[AEF] 17&:41,000,000H / 27&

116,000,000 .~ 3 7% :10,000,000 F ~ 4375:6,200,000 F 5 37&:4,100,000 3

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
SHTYREY S 48 g%fgfﬂmﬁ 3:(2_8).8 2-2-2-3 | 13.4| - 6 | 498 ﬁiﬁ@iﬁf;ﬁ)
RTFRIA L=y 5T YTFSAR R P i S S SR~ PN
07 T|— ¥ v 5 | BaK 3:28.9 1-1-1-1 [ 13.4| — 3 470 | BKAEE (FR)
MyI—XII2 600 ) o |EES @
R:FADATv— BiRkyI—AEU— [SliEke)
3y ~ 310 | GER— 3:29.1 6-5-2-2 | 13.4| -— 1 510 | FAIHE—ES 58)
AYa9Faovs . 62.0 (1 1/4) o | M F3vY
RIAFAT=ILR B:Y v ROYILIv IRRBUS
=Dy O v 8 | BEX 3:31.2 7-7-66 | 13.6| - 8 | 468 | KEEE— (XH)
/7\;'?/34_/\4"57\ » 60.0 (54%) o | @ 755>
RiFAITRXTv— B:AVIAVNR Btz
®FHITS U+ €Y 6 fztgiiééiz 3(:13/12.)3 4-6-2-3 |13.6| — 2 474 %gzi (ER)
K:Stormy Atlantic £:Amelia 2 Alexander — Grove
61101 [ /wERRY o6 gafgﬁz 3:(342).0 8-8-8-8 | 13.6| — 10 | 470 ;‘ggég?; j(%%)
RO—YRAYAA BRLEY RROZSH ) mE g
= 4t 5 | LEH 3:32.3 4-3-2-5 [13.7| - 9 486 | HHEER (EH)
7(8(12| X7 101A 60.0 ('3/8) 0 | @ egn-TU—g—x.21=4
R:IVvRIVIA B:7ROF475 LIRS
81811 eOvsteIY 4t 6 eE(i),EOEﬁ;E 3:(383).6 9-9-9-9 |13.7| — 4 514 itHﬂ%A (E=)
RFA—FTUSYF BIAAFRIY 9 m m
—Z RS~ 4 5 | NLRE 3:33.7 12-12-11-10| 13.7 | - 12 | 486 |IRARL ()
9(5|6 71 g o 60.0 M (g [flEs
R:IVvRIVTA4 B:7—AIUYV PAFAT7—L1
L Ry tv 8 | FREE 3:33.8 10-10-11-12| 13.7 | - 7 470 | BKRE GEh)
10[7|10| ¥YFVTIVY— 60.0 L) (ST
RAYFaqy R BRTUVIR—R 19 | @mz s
— %7 | HFB 3:33.8 3-3-7-7 [13.7| - 5 514 | BEREE (FR)
11719 /:\l'j_l: ‘?\ljlj. L 60.0 @e) (6) | BESK
R:O=IRAAIRAA B:TAYT 4= M 3k
= 4 6 | HEAM 3:34.7 11-11-10-11/ 13.8 | — 11 | 458 |FOEEE= (=)
128N 3 @:FS_/ TAXD 60.0 ©) (6) | TESE=A—ILF VTR ()
Ri—5—vvF B:hIAANLY RIERIS
[ BN
En'y 52.0-38.6
NaQr9IA L
@ 11— —B&IEfI
13—7F— 5=7,9(8,12) 4-2-1-11-10,3,6
20— — 5=7(9,12)4,8-2-1,11-10,3,6
30—7— 5=(7,12,4,8)=2,9-1=11-3(10,6)
AT=5r= 5,4(7,8)-12-2=9,1=11-6,3-10
o ILRE
BB 7 2,300 JA R 5-7 1,310 % 3E 5-6 7404 3EE 4-5-7 5,830
B B 7 450 4-7 1,170 5 E 57/ 4,840M 3EH 7-5-4 64,280H
5 180M 4-5 480 =51 7-5 12,550/
4 140
ABCDOVTIRHTERERRODDZ, THERAILZETL




